DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 2)

DIVISION WITH 10 Name:
Time: Score: y—

- —=815.8 + 10 = 16) 7930 = 10 =

) —442 = 10 = 1 —=531.9 - 10 =
3 —65000 = 10 = 15)  —25280 = 10 =
4 —=78320 + 10 = 1) —=8009 =+ 10 =
5) —8288 =~ 10 = 200 —24260 =+ 10 =
6 —5H0570 =+ 10 = 20 —5933 + 10 =
7 —688.7 =~ 10 = 22) —13480 + 10 =
5 —5291 = 10 = 23 —H21.1 =10 =
9 —120 =10 = 20 —177.5+10 =
10 —57990 + 10 = 2 —3196 =+ 10 =
1) —8374 = 10 = 260 —805.6 = 10 =
12) —030 =10 = 27 —95650 + 10 =
13) —39990 = 10 = %) —388.4 =+ 10 =
1) —3738 =~ 10 = 29) —2445 + 10 =
15 —94270 + 10 = 0 13.1+10 =

Mathematics: Division - Level 6 - Horizontal - Set 2
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